compulsorily draw diagonal cross lines on the remaining blank pages.

1. On completing your answers,
2. Any revealing of identification,

Important Note :

50, will be treated as malpractice.

appeal to evaluator and /or equations written eg, 42+8

Time: 3 hrs.

Statistics for Managers

Note: 1. Answer any F OUR full questions from‘ 1 to Q7.
2. Question No.8 is’ compulsory :
3. M : Marks ;L: Bloom s level , C: Course outcomes
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Discuss the importance of statistics. 3 | L1|CO1
. I T _ ya L3 | CO2
Find out- missing frequency for the following data, if x = 67.45 and n =100
Cl (Helghts)‘“ 595 —|625 —-|6557—|685 —|7L5 —
62.5 65.5 68.5 71.5 74.5
Frequéhcy H 5 18 4 ? ? 8
Calculate Mean, Median and Mode from the following data = 10 | L3 | CO2
Weights | 93-97 108- | 113- | 118 | 123- | 128-
112 | 117¢|™922 127 182
f 3 17 145 06 3 Va.
If the least value and the hlghest value in a data are - 8 and 60 respectlvely Find | 3 | L3 | CO2
range and coefﬁcxent of range. 000 g~ @
7 | L3 | CO2
Height . | 60 | 61 67 68
Frequen‘cy“ 2 1 4 2
The followmg distribution gwcs the pattern of overtime work done by 100 |10 | L4 CO3
employees of a company. Find mean and standard deviation.
Over time hrs 10 15 15-20 | 20-25 | 25-30 | 30-35 | 35-40
'No. of employees 21 s 34 21 7 7
Define correlation and regression. 3 |L1|CO1
An analysis of’ monthly wages pa1d to workers gave the following results : 7 | L3 | CO3
Pamculars Firm A | Firm B
Number of wa,ge,wgamers 500 600
Average monthly wage (Rs.) 5,600 6,500
Standard deV1at10n of wage (Rs.) 223.5 2313
i) Which firm Aver B pays a larger amount of monthly wage?
ii) In which ﬁrm A or B is there a greater variability in wages?
Calculate 10‘\‘7ve1,;‘,quartlle upper quartile and 8" decile from the following data : 10 | L3 | CO3
22,26, 14, 30 18,11,35,41, 12, 32. ‘ ¥
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4 | a. | Define binomial distribution with example. 3 [L1]Cot1 |
b. | Calculate the Karl Pearson’s coefficient of 7 | L3 | CO3
B 10 | L3 | CO3
5 | a. | Interpret the values of r=0,1= -1 3|L1]col
Explain the scope of statistics. 7 [L1]CO1
¢. | Calculate Karl Pearson’s correlati 10| L3 | CO3
36 6
6 | a | Define Hypothesis.____ 3 | L1 | COl
b. | If 5% electrical bulbs manufactured by a company are defective, use the poison | 7 | L3 | CO1
distribution to find probability in that sample of 100 bulbs :
i) Noneis Qéfecti\/e e
ii) 5 bulbs are defective. b,
c.|In an intelligence test administere 1o 500 students and data is mormally | 10 L5 | CO4

distributed. The average score was 42 'and standard deviation was 24.Find 3
i) The number of students whose score exceeded 500 .

ii) The number of students who scored between 30 and 40
iii) The number of students who scored above 60. © - d
7 [ a. | A sample of 200 bulbs made by a company gives a life time mean of1540 hours. | 3 | L5 | CO4
With a standard deviation of 42 hours. It is likely that the sample has been drawn

from a population h a mean life time of "1:»5"’00 hours. Evaluétewét 5% level of

o
A,

significance.
b. | Samples of sales in similar shops of two.towns are taken for a new product with | 7 | L5 | CO4
following results. ey Ty
~.Town | Mean sales | Standard deviation | Sample size
TA | 576 " 230 ¢ 5

B | 60 .~ | 219, 7 ]
i) “Is 'there any evidence of difference in sales of two towns?
i) Use 5% level of significance for testing this difference between means of two

“samples? Py, . ¢ ’(

c. | Below given are figures of productiofijin a steel factory. Fit a trend line using least 10| L5 | CO4 |
| square method. Also calculate trend value for the year 2022. e
Year 2015 | 2016 | 2017 | 2018 | 2019 | 2020 [ 2021 |
Production | 80 [, 90" | 92 83 | 94 9 | 92 |

| Form the following data obtain two regression equations and estimate y when X is | 20 | L5 | CO4 it g
12 and X when y is 12: ki)

x o | 7 ] 9 | 5 8 | 6 | 10
T90 | 8 | 6 | 5 |9 11
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